fyra brak, decimaler, ordningsfoljd med parenteser

namn:

2
(.7-3)x2+5,5=

1
5% 15+3-2(4,6+4,8) =

1
£ 32.3+5.2)-

2 1
Z+5--2,3
5 (4 > )

3 1
5,1+5(— <

Datum: Poéng:

) 1
—— )4 x2— =
8573747273

1
I5(5,8+5)+3% 5+2,3 =
3
(5,9+ Z)X4+5,6:
1

3
- +23,6 +-)=
4 (’ 5)

12 1
C 4 Syx 442 =
(373)74+3
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fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:

2 121 1 1 2
37— Syx2455= - — 12— 8(= — Z)+4x2—
(3,7-3)%2+355= 15 10 (3735)74x

163
10

3 | 799 4
— —1 S 1 + —) = +2 = _ _:1 —
)= (16=0)  15(5,8+5)+3x 5423 = — = 159

1
—x15+3-2(4,6+4,8)=(—
2 (9 9) ( 5

I 23 3 3 611
L 3(2345.2)= (-2 = (-m 2 L2y X445 6= 20—l
-3235) - ()= () 5.9+ D) x4+5,6= 12 =31
2 197 17 I 317313
L S(m—2.3) = (—— 1y = (—9-_ S 423,642y = 2 —g>
57337239 =0C5)=9%) 7 T23,6% )= 55 =855
301 71 1 1 2 1131
L+52—y= 272 T NV R S
1435797 157 g (3T "4+ 37 3743
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